
PROBNI ČETVRTI TEST, AM         MAJ 2015 

I Match the words with the definitions: 

1 biodiversity    A preventing organisms from harming crops 

2 pest management   B the existence of a variety of organisms 

3 symptom    C the amount at the beginning of a year 

4 organic integrity   D adhering to certifier’s rule for organic products 

5 drought-tolerant   F a sign that indicates disease 

6 beginning stock   E able to withstand dryness 

II Fill in the blanks with the correct words and phrases from the word bank: 

              WTO                 trade surplus                export          compost      certifier 

1. Fewer imports led to a ______________. 

2. Wheat is a major _____________ to other countries. 

3. Using _____________ is a great way to fertilize soil. 

4. John is preparing for a visit from the _______________. 

5. The ____________  is considering some new regulations. 

III Write a word that is similar in meaning to the underlined part: 

1. Countries that have surpluses are often reliant on selling products internationally. 

_x_ _ _ _             d _ p _ _ _ _ _ _  

2. Last year, the amount of the previous year’s stocks remaining was unusually low. 

c _ _ _ y _ _ _ _ 

3. The expenses of feeding livestock went up. 

_ e _ _            c _ _ _ _ 

4. Diseases related to fungus are easier to prevent than bacterial diseases. 

_ u _ _ _ l      d _ s _ _ s _ s 

5. When equipment loses value, it is called a cost not due to spending. 

n_ n- _ _ _ _       _x_ _ n _ e 

IV Translate into Serbian: 

1. If a certifier approves your plan, an inspector will schedule a visit. 

 

2. Fred will talk about reducing dependence on non-renewable resources. 

 

3. While Chile remains import dependent with respect to energy related goods, it is export 

dependent overall. 



 

4. One setback to sending goods to Canada is the requirement of dual language labeling, in both 

English and French. 

 

5. Last year was marked by surplus wheat production and many producers began the year with a 

heavy carryover of the last year’s ending stocks. 

 

VI Complete the sentences with the correct form of the verbs in brackets (present simple or future 

simple): 

1) If you  ____________ (get) back late, I  ______________ (be) angry. 

3) If we _____________ (not/see) each other tomorrow, we ____________ (see) each other next week. 

4) If he  ____________ (come), I  _____________ (be) surprised. 

5) If we ____________ (go) on holiday this summer, we ____________ (go) to Spain. 

 

VII Complete the sentences with the correct form of the verbs in brackets (past simple or 

would/wouldn’t): 

1) If she __________ (be) happy in her job, she _______________ (not be) looking for another one. 

2) If I ____________ (live) in Japan, I ____________ (have) sushi every day. 

3) If I ___________ (be) you, I  ____________ (look) for a new place to live. 

4) If I _____________ (have) million dollars, I ______________  (give) a lot to charity. 

5) If there ___________ (be) no hungry people in this world, it __________ (be) a much better 

place. 


